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Time : 3Hrs. Sem - V/Chem.
C.1.P.C

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. What is meant by elastic element ? List the types. (ii)

11.

Draw the construction and explain the working

procedure of Bourdon tube pressure gauge.
6

SlTRT® Solic | 39 FT JHsId & ? 39d

fafr=1 yoRl &1 Yfaag X | o @ fF

$ |1 d1s9 <Jd UER I &I 99169c U4 (i)
i Hara fafer &1 avf & |

OR (31214r)

(iii)

With a neat sketch describe the construction and

working procedure of Mcleod gauge.

TP Wl a3 & 91 Aqdras 19 &) §491de
7qd SHRIiugfa &1 quia o |
(iv)

Draw the construction and explain working of Air
Purge system. Mention its industrial application.

6
IR Ul fi¥ed @1 99ae & IRE Eid g4
9D HRIUGIT P AT HR? gHd JETD
ISTA BT Seol™ I |
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SAIRcd <39 & 9% Aol &I dcd ...
JHR BT 8idl & |

(31) areq <gs

@) Dy

SELGISH

(%) SuIqa g+

Which of the following characteristics of an
of an instrument is desirable

(a) Accuracy

(b) Reproducibility

(c) Sensitivity

(d) All of the above

frr=rifea & @ @9 39 @ 9ifSa
faetyar 27

(31) TRt

(@) Ruifsfafaferd)

(&) gesrar

(%) Suxrqa g+

The time constant of mercury in glass
thermometer is

@ Fx
hA

(b) e

(¢) mchA

1
(d) mchA
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frr=feaRaa usl @)1 aRYTYT € vd aareear o |
SRS

(@) gerar

(&) NS

(?) fgwe

OR (3121an)

Explain inherent flow characteristic of control

valve. What is a valve positioner ? Give it function.

Beld dicd & I=df-Ifed Tl fagioaren of
YT B dled YIoIAR T 8 ? 39D
sl @ ford |

With a neat sketch explain the principle of
construction and working procedure of bimetallic
thermometer. Also state any four application of

bimetallic thermometer.

U WY IR & i fgenfeasd omfiiex
@I 9919¢ Ud H1d ggfa &1 9uie & | 39
IR ST BT Y Sood™ B |
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(vii)

(vii)

(viii)
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1 9 9 B9 oW @ife &1 SuHRvr 27
@) fyenfeas omfdex

(8) arsuqre eriHieR

(W) RS @ eEiHeR

(%) SWIdd # 4 &Ig 21

Mcleoid gauge is

(a) U-tube filled by mercury

(b) U-tube filled low vapour pressure oil

(¢) Liquid manometer along with pressure
amplifier

(d) Any one of the above

Aqargs A9 2

(31) URg wHIfRd g—<gd

@) =1 afig g9 da wafed g g9
(¥) <19 vHUfasRR & A1 g9 #A49rHeR
(]) Sugad A 4 HiIg L

Simple pitot tube measures
(a) Average velocity

(b) Maximum velocity

(c) Point velocity

(d) Static pressure
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4.

How the level of a corrosive liquid is measured ?

HIRIAIT g9 BT dldel 9199 D9 fHar Srar 27

OR (3121a1)

Name five direct and indirect level measurement
Instruments.

yddel U9 39Ae] odel 9194 & fod) ui=g
SYBYON @ A1 ford |

Describe briefly the various types of electrodes
used in PH measurements ?

PH 9199 ® ST f6d w1 ara fafr=
UYHR & goldclsl &I 8T ¥ qof B |

OR (3121an)

Which viscometer is the standard instrument for
testing petroleum products ? Describe briefly.

Ugiferad Saurel @ g A ygad 84 drd
fawpficr &9 2 ? "&y A U1 quid o |
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0.01 Hivg.amg. fARue <9 &1 H19A
................... ® gRT fear &1 Iodr 2 |
(31) IS AW

@) faRrE e

SEEGIEERIG

(?) 359 | BIg T8

Laplace transform of unit step change.
@ +
(b) 1
1
© 37
(d) None of these
Ife LU A9 BT ATl =B IH
BIdT =:
@)
@ 1
@) o
@) w9 @ P T

Ordinary mercury thermometer comes under
order -

(a) Ist

(b) 2nd

(c) 3rd

(d) None of these
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(xx)

(xx)

Answer all Five Questions.

12 NTS5015

............... controller has the maximum
stabilizing time.

(aP

(b) PD

(c) PI

(d) PID

GROUPB

4x5=20

Il ufg 9o & SR < |

2. What are the steps involved in caliberating a

thermometer ? 4
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fodfY st & PH &1 A9 8T 2 |
@ 7 4 &9

@) 7 9 fera

(|) 7 & TR

(@) 7 9 BIg L

Thermocouple is suitable for measuring.
(a) Liquid temperature only

(b) Very high temperature only

(c) Very low temperature only

(d) Both (b) & (¢)

(31) ®ad <9 aAUHE

(@) ®aa afa S=a A
(d) dad =1 argaE
(g) <t (9) v (|)

Which of the following is variable area flow
meter ?

(a) Rotameter

(b) Orificemeter

(¢) Venturimeter

(d) Pitot tube
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